o

fawg HE :
Subject Code : 21 0 2
SECONDARY SCHOOL EXAMINATION -2022| ,  ©
qreafhe Whel TRIET - 2022 :

qéicstion‘ B-‘:ik?%lg t ANNUAL Iaﬁm) g, ﬂ 3
" Ca2

e MATHEMATICS ga’ o

( Compulsory ) g g en

T .
( afrard )

o1 UE1 Sl G0 ¢ 100 + 30 + 8 =138

Total No. of Questions : 100 + 30 + 8 = 138

(F7a : 32 15 T5Fe)

| Time : 3 Hours 15 Minutes ]

el Tfxd BT GEA : 48

Total No. of Printed Pages : 48

(qUTis  100)
[ Full Marks : 100 |

getenferal & ferd a9

1.

giarelf OMR T TAF UT H@AT L

gvT gfeawr &WiE (10 B F)
savq ford |

Instructions for the candidates :

Candidates must enter his / her
Question Booklet Serial No.
(10 Digits) in the OMR Answer
Sheet.

Candidates are required to give their

o ufEmi Furva smeved 4 & S are
. _ ; answers in their own words as far
g 71 as practicable.
3z AR ERE W ﬁz}gt; 3F W 3. f‘igtjrres in the right hand margin
PO, )" indicate full marks.
Z Fd &l
4. gvl @ A an,-' qg & foo 4. 15 minutes of extra n:me have been
allotted for the candidates to read
15 fiz &1 Sk aaq fear mar &1 the questions carefully.
5. gz gv9d §1 wuel 0 ¢ — @ug-37 Ud 5. This question booklet is divided into
two sections — Sectlon-A and
Gue-dl Section-B, :
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6. GUE-3 7 100 a?ﬁ'ﬁm uvq f—?, fgarf 6. In Section-A, there are 100 objective

g =t so oac - - el T type questions, out of which any
fard ;h T QS gel @ 50 questions are to be answered.
SW 7 W wm 5o 3w @ & First 50 answers will be evaluated in

; case more than 50 questions are
T [ o) g gvr & fo
: answered. Each question carries
1 9% FuiRa &1 wet s & svorey
s . 1 mark. For answering these darken
B W B the circle with blue / black ball
e circle wi ue ack ball pen
Tl e @t Aiet / Fet arT o @ : ,
) against the correct option on OMR
T & fEet W gew &

EFET / T wered / &S/ gy
ST T OMR Jov-gfear & wair
FYAT HAT €, =T qdiem whvmy
AT g |

7. @UE-F 4 GOWEWWE}; fg 7. In Section-B, there are 30 short
#%—_ﬁ ISWWWWW answer type questions, out of
E':’f .WE??EW? > qu 2#5;% E?f which any 15 questions are to be

\ ‘ answered. Each question carries
CoCo 3ﬂ%ﬁ_rh‘, I @UE 4 83 Il 2 marks. Apart from these, there are

T ﬁ'?j T 5‘, f7d & )%??' e m#ri‘ 8 long answer type questions, out

Answer sheet provided to you. Do
not use whitener / liquid / blade /
nail etc. on OMR-sheet, otherwise
the result will be treated invalid.

F T é?T ('?'! TE g & fE_'l'Q' of which any 4 questions are to be
5 & iR &1 answered. Each question carries
5 marks.

s i ¥ = hﬂﬁﬂw‘; UG T #F1 8 Use of any electronic appliances is
’ - c e &y strictly prohibited.
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WUE - 31 / SECTION - A

TGFTs W / Objective Type Questions

T W 1@ moaara*;mé;mrwﬁmﬁmwa}ﬁﬁ##wnﬁ?fﬁﬁ'?
so TV & 3T &9 grT 97 U wet fAweq w oMR ¥ O FaleAd &

50x1=50

Question Nos. 1 to 100 have four options, out of which only one is correct. Answer any

50 guestions. You have to mark your selected option on the OMR-Sheet. 50 x1=50
| aft 9 GeINGH a=bg+r §a=37,b=4,r=17 g~

(A) 9 | - (B) 8

(C) 10 (D) 7

If in division algorithm a=bg+r, a= 37, b= 4, r= 1theng=

(A) 9 B 8

(C) 10 D) 7
2. 156 quﬁ@ﬁzaﬂwﬁﬁw% ?

(A) 2 B) 1

€ 3 (D) 4

What is the exponent of 2 in the prime factorization of 156 ?

(A) 2 - (B) 1

Cc) 3 (D) 4
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(A)

(€)

2+ 43 | (B) 5-43
A vy
7 (D) 73

Which of the following is not an irrational number ?

(4)

©

(A)

2448 (B) 5-y3
J5 . J3
0-105 T ansm w9 Frafefad § w5 3 2
12 vy ' 21
2% x50 U 23 452
. D) T AP Tt

(©)

23 x53

Which of the followifigiis —"— form of 0-105 ?

2"%5
12 21
(A) m (B) 03 452
() 232 153 (D) sichie of these
X
fr=fafaa 9 &7 ufolg 9@ g 2
(A)  4+4J7 (B) 104100
© 2+J3 D) 5448

(210]
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Which of the following is a rational number ?

(A)  4+V7 | (B) 1044100
(C) 2+43 - (D) 5+V5

fpsfeiaa & fHaw! qymHes YER Fid € 2

15 1
A Y600 B 370
3 8

Which of the following has terminating decimal expansion ?

1

& T - B 310
© &5 o
21 i o oAb R e F(aP) o
a1 (B) _2
© o (D) atb
For two positive integers a and b HCF(a,b]:bLCM(a,b} is gqual to
(a) 1 B 2
(D) a+b
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8.  Teivfaa § w-w g wg-arvrew & 2

(A} (14,35) (B) (18,25)

€ (13,52) (D) (21,84)

Which of the following is a pair of co-primes ?

(A)  (14,35) (B) (18,25)

(© (13,52) D) (21,84
9. Twlefas A ¥ =i s e ¥ )

(A) 11 | B 21

(©) 31 i D) 41

Which of the folloWing is a composite number ?

(Aa) Al S (B) 21

(©) | 31 (D) 41
10.  frafafad & 4 99 s den & 2

(A) 33 B) 39

(C) 38 (D) 31
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12.

(210 ]

Which of the following is a prime number ?
(A) 33 (B) 39
© 38 O 31

QY &Sl & Ho®o 27 T wHodo 162%111&@:}@@11@;'54%&{@@@1
1 ' 2

(A). 36 - B) 45

() *) ‘ (D) 81

The HCF of_ two numbers is ﬁ'? and their LCM is '162. If one of the numbers is

54, what is the other number ?

"(A) 36 (B) 45

c 9 D’ . (D) 81
G@At 12,15 21 T HoTo BT

(A) 3 | B) S
© 7 (D) 2

The HCF of numbers 12, 15 and 21 will be

(A) 3 B) 5
c 7 D) 2
S-11 |—| 2003 1-(71/80) Page 7/48
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13. ﬁ?ﬂ%wmmiuﬁmq%%{quﬁmumfawwaﬁrmﬁm% i

(A)  6g | I(B) - 6g+2 |

€ 6g+1 D) 6g+4

For some positive integer g, every positive odd integer is of the form

A 6q B 6qe+2

C) 6g+1 | D) 6g+4
14.  WI% A dem e

(A)  TF WFA den | (B) . Uk QUi e

(C) . TH qui® - (D) @am%ﬁﬁm (

Every rational number is . | |

(A)  anatural number (B)  awhole number

(C) an integer (D) a real number
15. 2% |

(Al ¢ Wﬁﬁq '-F{@T | © (B)  STUNHY gy

© lE Hem D HIE T

22 |

'
(A) a ra.tional number (B)  an irrational number
(C)  aninteger (D)  none of these
S-11. [—] 20031-(71/80 Page 8/48
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16, TR TgTE % v ) <ie Rhee @l ¥ 2

w1 B) 2

© 3 D) 4

What is the number of zeroes of a quadratic polynomial ?

@ 1 : B) 2

© 3 | O) 4
17. Trefetad § S 59E 96 T ?

(A) %x+1 (B) 2-x2+3x

1 D x3

Kl 555 | (D)

Which of the following is not a polynomial ?

(A) %x+l B) 2-x2+3x

© 15 @

X =3 _ _
=7 7-3a 28 o am

18. A p(x)=g(x). gx) AR p(x) H °A =7 T g(x) T Hqd =3 al 500

|

A) 3 B) 4

© 5 D) 7
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BiharboardQuestionpaper.com

mScanner


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

[ 210

if p(x)=q(x). g(x) and degree of p(x)=7 and degree of g(x)=3, then degree of
px)

_S}E'_) will be
(A) 3 By 4
€ 5 (D) 7

qig agug P(X) T UH-T[AF - 2 ¢ Al FAlcied § B p(x) & 0% TormEys
BT 7

(A) x-2

B)  x+2
© x-1 (D) A+ 1
¥ -2 i a oo of polynomial p(x] then which of the following is a factor
of p(x) ?
A)  x-2 B) x+2
€)  x-1 D) x+1
qﬁ{ﬁ@‘ﬁ x2 L4x+1 %‘x’]?ﬁv‘ o, B ol al o B RT HE B
(A), w1 | B) 1
© = o -1

If @, B are zeroes of the polynomial x2 — 4x+1 then the value of o Bis

A} =1 B) 1

(C) ;l1~ (D) —;1‘—

S-11 |—120031 -(71/80)
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21, T SEHE 6x% -11x2-3x+2 F YF o, B, y & A ap+Py+ay B AT g
I ® =t
© -3 o 3
If o, B, y are the zeroes of the polynomial 6x° -11x* - 3x+2 then the Ivaluc of
af+Py+oay will be |
A5 ’ ® 2
© -3 o 3
22. a W x2 -3(x+1)-5 b LIH a, T Al (at1) (B+1) T HM FI
(a) 3 B) -3
c) -4 '(D) - 4
If o p are zcroes of('the polynomial x? - 3(x+1)-5 then the value of
(a+1) (B+1)will be'
(A) 3 B) -3
(c -4 D)y 4
3. gig 9gUS x>+ px—4 %W@'W$Wﬁﬁqﬁmm
A) -1 (B) .1
) p (P) p?
g-11 |—| 20031-(71/80) Page 11/48
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I zeroes of the polynomial x2 + px—q are reciprocal to one another, then the

value of g is

A) -1 B) 1

© p D)  p?

ﬁmﬁf@aﬁ@aﬁqwﬁwwﬁmm—zmﬁﬁ?

A) x%-4x-12 (B) x%+4x-12

(C) x? +4x+12 (D) 4x2 - x+%

Which of the following is a quadratic polynomial whose zeroes are — 2 and 6 ?

(A) x% -4x-12 (B) x2 +4x-12

(&) x% +4x+12 (D) 4x2 - x4 4

mmﬂm 2x =8y+2=0, 6x-9y+5=0 %Wwa’lﬁ ?
(A) T AR FEaA U T (B) IS &1 &l

(C) "HRMG &l D), ¥ F #i¥ &}

How' many solutions does the pair of linear equations 2x 3y+2=0 and
6x -9y+5=0 have ?

(A)  One and only one solution (B)  No solution

(C) Infinitely many solutions (D) None of these

‘S—II - 20031171{50;
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| M
k % frg 9 & feu odtEor Ky + 2y = ST 3x+ Yy = | o e Sifgel & E

(A) k=6 B) k#6

C) k=12 o) T QA HIE A

. = unique
For what value of k, the equations kx + 2y = 5 and 3x+ y = 1 have a q

solution ?
(A) k=6 _ B) k=6
(C) k # 12 (D)  none of these

aﬁﬁgﬁaﬁwﬁ%ﬁ@ﬁﬂuﬁmi@ﬁﬁaﬁﬁﬁﬁ@ﬁ

A 3H By T
© A (O) @ | HE
The graph- of two lincar'equat'iogé is. parallel lines, then number of solutions
will be
(A) .zero (B) one
(C) infinitely many (D) none of these ‘
28. y-4 _ o %1 aenE FE ee T e ?
(A'} A8 & G (B)  y-3&T & WHIK
() e farg @ Al € D) A
S-11 | = I_EOOSIﬂ_ﬂ.!so; Page 13/48
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What type of straight line will the graphof y~4 =0 be ?
(A)  Parallel to x-axis | (B)  Parallel to y-axis
(C)  Passing through origin (D)  None of these

29. AR 2x+3y=11 3R 2x-dy=-24, A
A x=2,y=4 : (B) x=-2,y=-5
(C): x=-3,y=1 (D) x=-2,y="5
If 2x+3y=11 and 2x—4y=-24, then
(A) fo,y=4 (B) xX=-2,y=-5
(C) x=—_3,y=1 (D) xl=—2,y= 5

30. * fr=ieifEa o & i frar w6 & -
(A)  (x+1)2=2(x -3 | B)  (x-2)%2+1 =2x-3
©)  (e=2)(x+1=(x-1)(x +3) (D)  x(2x+3)=x2+1
Which of the following is not a quadratic equation ?
(A) -(x+1)2=2(x—3) B) (x-2)®+1=2x-3
(€] (x-2)(x+1)=(x-1)(x +3) (D) x(2x+3)=x2 +1

31 k% T AF % fou e geieor 9x?+3kc+4=0 & T QU ¥ >
A)  £5 B x4
(C) + 3 (D) 9
S-1I |- 20031-(71/80) Page 14/48
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32.

33.

34.

{'216]

i ati . 4=0 are
For what values of k, the roots of the quadratic cquation 9x” + 3kx+

cqual ?
(A) +5 (B) +4

A x-y=6 AR .\‘2+y2=30Fﬁxy$lﬂTqm
A 2 : (B) -2
€ 3 : D) -3

If x— y= 6 and x2 +y* =30 then the value of xy will be

Ay 2 B -2

D) THE I?ﬁré el
- 2 -

The roots'of the quadratic equation y +3y - }8 =0 are

(B) 6’ -3

(D) none of these
(C) -6,-3

%WHWUT %2 +x+5=0 %"{F’T\Tzﬁr’(‘;ﬁﬁ%%

(A) TS AR g (B) aferR 3 aqwm.

7 q Tl
) FErdidE (D)

P 15/48
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The nature of the roots of the quadratic equation x%+x+5=0 is
(A)  Real and equal (B)  Real and unequal
(C) Not real _ ‘ (D) none of ;.hcsc
35.  Tefea o ® wmicy 99 @ & - ._
A) 12,52 7293 B)  v2,V8,/18,432,...
(C) -10,-6,-2,2, ... | (D) 0-2, 022, 0222, 0-2222, ...
Which of the following is not an A.P. ?
&) 12,52, 72 73 (B) 2,V8,J18,J32. ..
(€ -10,-6,-2,2, ... (D) 02, o-éz, 0:222,0:2229. ...
6. i Reet T S 1 i 25— 9 ot At v e o
(4) S : B -3
(€) | 4 ; ' (D) 3
If nt term (;f an A.P. is 5 - 3n then its comlmon difference is
(&) 'S5 B -3
€ 4 | (D) 3
37. 21,18, 15, ... 1 FIH-G1 @G Y= ¢ 7
(a) 77 B) 8
(€ odi - (D) s
Tl[[-— 20031171;30‘],- Page 16,48

BiharboqrdQuestionpaper.commScamef


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

38.

39.

(210

Which term of an A.P. 21, 18, 15, ... is zcro ?
&) 7w (B) 8"

(C) gth | (D} 5th

iR S V7, J28, V63,... T AU UG TN E ?

(A) 70 | (B) V84
(€ o8 D) V112

Which is the fourth term of an A.P. ¥7, 28, J63,..7

@) V70 B) V84
c) 98 D) 112

e %,a,gmﬂ" TS ..a@%aﬁqwqﬁ%ﬁammm
4
B 1.5
w3 B 3
3
D —
© 2 O 3

i 3 { a will be
If 2 a. 2 are three consecutive terms of an A.P. then the value o

9

2 B) 3

A 3 3

3

D) =

© = I
S-1l *l— 20b31-171;301 Page 17/48
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41.

[210]

R YAIER A W U7 @ 3R G IR @ @Y, @ T TG p GG H AT g

(A) a+(n-1)d (B) a+ nd

(C) %[2a+(n—l)d] (D) %[2a+nd]

If ais the first term and d is the common difference of an A.P., then sum of its

Dirst nterms is

(A)  a+(n-1)d | (B) a+ nd

(C) %[2a+(n-1)d] (D) -%[2a+nd]

T Ew TR & FHR 0 x+ by=e,, ayxsby=c, ¥ FAFE &6 W

a b

(A) —]=—b—1—:t-cl ' (B) EL;tﬂ:El_
A, Dy €y a, b, c,
a b' e

€ Lol ) . T R P B
a, by ~c, a, by, ¢,

The, system of a pair of linear equations ax+by=c,, a,x+b,y

=c, has
infinitely many solutions if
a, b, c a b ¢
(A) - B Lal S
a, b, ¢, a, b2 Ca
a b (& a b
€ —Lezls-l o S, TR
2 % O la by ¢,
S-11 = 2003 1-(71/80) Page 18/48
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42,

43.

44,

[210 ]
AABC H, Y1 AB U8 AC W #W: p ud E fag €1 3 DE || BC, AD = 4,

DB=x-4, AE=8 T EC=3x- 19 @ x &I A &1 8T ?

A) 9 (B) 10

<€ 11 | (D) 12

In AABC, D and E are points on the sides AB and AC respectively. If DE | | BC,

AD=4,DB=x-4, AE=8 and EC = 3x- 19 then what is the value of %?
A) o (B) 10

& 1 (D) 12

I gAEY B ABC WS POR % &% HERL 81 W2 R 49 WHIZ §) IR
AABC il ST 4-5 WHI &1 Al APQR Y S ST BN 2

A) 4G (B) 3-5JHr
© 253d D) 153

Areas of two similar triangles ABC and PQR are 81 cm? and 49 cm?
respectively. If the height of AABC is 4:5 cm then what is the height of APQR ?

(A) 4cm ' (B) 35cm
(C). 2-5cm (D) 1'5cm

v G % 6 A SR 8 W ¥1 T W e Pt ¥ fewd
TWET & ? i

(A) 39 B) 49

() 5adl (D) 79
S-II |- | 20031-(71/80) ‘ Page 19/48
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45.

46.

' (€) Scm (D)

[210]

The diagonals of a rhombus are 6 cm and 8 cm. Its cach side is cqual to which

of the following ?

(A) 3 cm ' (B) 4 cm

7 cm

ﬁWﬁHﬁABC@ﬁ?PQR%WW 36 ¥ AR 24 T ¥ A
—1oﬁa‘msw%

(A) 169 B) 159
(C) 209 (D) 253

The perimeter of two similar triangles ABC and PQR are 36 cm and 24 cm

respectively. If PO = 10 cm then ABis equal fo

(A)  16cm ' (B) 15cm

(C) 20 cm (D) 25 cm

U FHIR P $T &9he 443 T2 %a‘rwﬁu&ﬁqﬁwm ?

(ap 9w B) 123
(C) 12J/3 &Hi (D) 643 A

The area of an equilateral triangle is 4y3 cm 2. What is its perimeter ?

(A) 9 cm (B) 12 cm

(C) 123 cm (D)  6y3cm

S-1I [—[20031-(71/80)
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48.

49,

[210]

12 90t 5= aret andgw @ g uRkfafa gt
(A)  (x+1)12 ¥R B (n+2)12 Tl
(©) (n+3)12 [ (D) 6n T

Total perimeter of a semicircle of radius 12 cm is

(A)  (n+1)12 cm (B) (n+2)12 cm

(C) (n+3)12 cm (D) 6mcm
WWW@MWWWW@R@ ¥ d IO T EEEA el
A)  w(R%+r?) B _a(R-7) .

©)  w(R%-r?) | _ (D) w(R+r)

The external and internal,radii of a circular ring are R and r respectively ; then

the area of the ring is

@A) n(RAEP B n(R-T)

©  w(R%-r?) (D)  w(R+r)

fﬁﬁgﬂ%%ﬁﬁgﬁﬁﬂmﬁﬁmaﬁwﬁls M & @ g H1 SR ET
(a) 4 B ¥

© 10@H o) 8

Page 21/48
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50.

o51.

[210 |
The minimum distance of a 8 cm long chord of a circle from the centre of circle

is 3 cm ; then the diameter of the circle is

(A) 4 cem (B) S5cm

(C) 10 cm ' (D) 8 cm

a‘rqﬁ%@awﬁaﬂaﬁmgw%ﬁrﬂﬁqﬁﬁﬁmmm

(A) 3:2 (B) 4:0

© 2:3 D) 8i:16

The areas of two circles are in the ratio 9 : 4, The ratio of their circumferences is

(A)  3:2 B) 4:9

C 2:3 D) * 81:16

1oooﬂmwﬁﬁwm88%ﬁmw%nméﬂm%

(a) 145 o B) 247

€)'y 28 D) 407

In making 1000 revolutions, a wheel covers 88 km. The diameter of the wheel is

(A) 14 m (B) 24m

(C) 28m (D) 40m

S-11 | = 20031-(71/80)
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52. i.‘:(‘Js.I[L)[]e -0)=
(A) cos 90° + cos 0 (B) sin 0
(C) -sin 0 (D) -cos 0 .
53. 4§ 0=45° @ cos20-sin20 T HH BT
1
A 1 2
(A) B 5
3
C o
€ 0 _[D] 5
If 0=45° then the value of cos?0-sin®0is
. _ .
(A) 1 (B) 5
( 3
< 0 D) 5
54, TaenEd T feEe 9 J2 % SRER 8 2
(A)  tan 60° (B)  cos 45°
(C) sin 30° (D) cosec 45°
Which of the follewing has the value equal to J2?
(A)  tAn 60" (B)  cos 45°
(C) sin 30° (D) coscc 45°
S5 T cos 32° = x AR cos 58° = y Al FEATARET A W HIT-H WA § 2
(A) x>y (B) x= y
C) x<y D) T A 6
S-I11 |—| 2003 1-(71/80) Page 23/48
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P _ : [ 210
If cos 32° = x and cos 58° = y then which of the following is truc ?
(A) x>y B) x=uy
(C) X<y (D) None of these
56. A 0=45°T tan?0+—L— & T T4 2T
sin® 0 : )
@A 1 B) 2
(€ 3 D) 4
If 0 = 45° then what is the value of tan? 0+ —1 ?
_ sin“ 0
(A) 1 B) 2
€ 3 D) 4
57. 4K sin42°=pat sin 48° T A fr=fefad # ®H-3r g 2
A p ' B) -p
(S ¥1- p? | (D) £
: 1= p2
If sin 42° = p then which of the following is the value of sin 48° ?
(A p B -p
© y1-p? (D) L
1-p?
S-1I |- 20031-(71/80) P 24/;;
age
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(210 ]
58. AR tan0=12 @ sin 0 & T M
S 12
W33 B 13
S 12
(C) 13 D) F
If tan0=12 then the value of sin 0 is
S 12
A 75 B 13
5 12
© 13 (D) 5
0. AR tan0=L qt £SIN0-90SY o g gy
q psin0+qgcos0
2% %o
p-+q
A  p*-g° (B) P2 - g2
.8 2__2
P-*9 i
B (D)
(C) 5 -
. p psin(}—qcbsﬁ ;
If tanG—E then the value of SsmBigcash i
| 2 2
P +q
2 _ 2 234
A - (B)
(A)  p" -4 R
% 2 2_g°2
P *q (D) i
(C) 5 P2 +q2
60. (1+cot20)(1-cos?0)=
(A) sinZ 0 (B) tan? 0
(C) cos?0 o) 1
S-1I | =] 2003 1-(71/80) Page 25/48
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61.

62.

63.

64.

[ 210 |

l -cos0 _ :
1+cos0O

(A) sec 0 -tan 0 (B) cos 0 —sin 0

(C)  cosec 0 cot 0 (D) tan0-coto

T SR JOR F AT U IR O B e S 1:43 ¥ A g
IAGA VT I

(A]  30° B)  45°

©  60° (D)  90°

The length of a vertical wall and length of its shadow are in the ratio 1:¥3. The

angle of elevation of sun is

(A 30° (B) 45°
(©) 60° . (D) 90°
sec 30° _
cosec60°
2 3
©°* 3 | D) 1

2sin® 63°+1+2sin? 270
3cos?17°-2+3cos? 73°

(A) (B)

N w
wIN

o

(€ D) 3

S-11 |- 120031-(71/80)
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[210]

65. d cos(a+p)=0, ar sin(a-p) =
(A) sina (B) cosp
(C) sin2a (D) cos2p
If cos(a+P)=0 then sin(a-p) = |
(A) | sin o (B) cospP
(C) sin2a (Dj cos 2;3

66. g (-2,-5)HATE
A -2 B) -5
€ 3 (D). #%7
The abscissa of the point (-2, - 5) is
@) -2 B) -5
¢ 3 15)

67. r%ﬂ%ﬁﬁiﬂg-ﬁwm%

| A" B) 2

© O D) ¥ ¥ I Tl
The y-coordinate of any point on the x-axis is
Aa) 1 B) 2
(C) O (D)  none of these

S-11
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68.

69.

70.

g (3, - 4 ) frg wquivr o Rea & 2

(A)  wuH B) fgdd
© T (o) wgd
The point (3, - 4 ) is located in which quadrant ?

(A)  First (B)  Second
(C)  Third (D)  Fourth
xITHag (3, 5) M ®

@ 5 B 3

© 2 D) 8

The distance of the point ( 3, 5 ) from x-axis is

A S

C) 24

ﬂﬁﬁﬁﬁﬁ%u,y)ﬁf{ﬁw%?

A Vx*-y?

€ x*-y

B) 3
(D) 8
(B)

(D)  «x

What is the distance of point ( x, y ) from the origin ?

(A) X- =Y

(B)

(D) x

2

X“+y

+ y?

[210)
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73.

. (210 ]
fogafl (2,-2) 3R (-2, 2 ) T et ol Yarde & Tufeg & P §

A (2,-2) (B) (0,0)
€ (1,1) (D) (4,4)

The coordinates of the mid-point of the line segment joining the points .

(2,-2)and (-2,2) are

@ (2,-2) B (0,0)

© (1,1) (D) (4,4)
fodl B/t &1 S5 (3,0 ) ¢ 3R @b Q9 (2,3 T (1, -4) & @ A
(4 (5,2) | B) (1,3)
€ (6,1) D) (2,-3)

The centroid of a triangle is( 8, 0 ) and its two vertices are (2, 3) and (1,-4);

then the third vertexis
a) (5, 2) B (1,3)

(C) (6,1) . (D) (2,-3)

Uﬁ”ﬁﬁ?ﬁgﬂ%?ﬁﬁ%ﬁéﬁﬁﬁ(o,m,m,mqﬁ(o,1)3’6?&%\333;1@3%

(A) 3 B) 4
c 2 - (D) 1
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74.

75.

[210]

If the coordinates of the vertices of a triangle arc (0, 0), (4, 0) and (0, 1) then

the area of the triangle is biharboardquestionpaper.com

A) 3 | (B) 4

) 2 - F D) 1

fogell (-1,3) W (-5, 7)F SR gh

@A) 2V ER B) 42 T3 |
(€  3J2 TR | D) V2 3R
Distance between the points (- 1, 3 ) and '( -5,7)is

(&) 2V2 units (B) 442 units
(©)  3J2 units | D) V2 unit.s

E«;\Tﬁﬁﬁ (x5 Y1) 3R (xg,yg)ﬁfqﬁﬁmﬁi@maﬁ'm:nﬁvaiﬁﬁﬂﬁhﬁﬁ
e forg % Priviie €l

( :
(A) mx, + g ’ my, +ny, (B) MXg ~nX) my, —ny,
(| m+Hn m+n : m+n ' m+n
( mx +n.xl m -
2 1 My, +ny, ; :
(©) T (D) T ¥ = Tt

The coordinates of a point which divides the line segment joining the points
(%, y;) and (x5, Y,) intefnally in the ratio m: n, are

mx, +nx, my., +ny, ) -
(A) [ 2 L Yy +ny, (B) MXg ~NX)  my, -ny,
m+n m+n m+n ' m+n

mx, +nx;, my, +ny, )
(C) [ e ] (D) none of these

/
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(210 ]
ﬁw%*mmmsaomz 3t Breur 14 A & A aw fadw
(A}_ 40#?[ (B) 00 T

©  sow (D) 10@H

If curved surface area of a cone is 880 cm? and its radius is 14 cm' then its

slant height is
(A) 40 cm (B) 20cm

(C) 80cm (D) - 10 cm

TIA SO ATt 3 Sl & STEAEl 1 I 9 ¢ 16 € Al I a5 YIS & &l

T I BT
A) 9:16 (B) 16:9
C) 3:4 (D) 4:3

The ratio of the volumes of two cylinders of equal height is 9 : 16. Then the rato

of their curved surface areas is

(A)  9:16 B) 16:9
© 3:4 B %:9
g-11 [—| 20031-(71/80) Page 31/48
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[210]
T Vi @ ot aw B aEeer 18 M2 ¥ 3R Sw fodd SO, UF F SR )

78.
fream Y G 2, At 3% & YR T ST%S ¢
A) 6T 2 B) 12T 2
(€ 1872 (D) 24T 2
The total surface area of a cone is 18 m2 and its slant height is twice the radius
of base of the cone. Then the area pf the base of cone is
() 6m? (B) 12m”
(© 18m? - (D) 24 m?2
79. T % A I 8 : 27 ¥ A I W 9 F Shed HT S @M
(A)  2:3 | B) 4:5
€ 5:6 ' (D) 4:9
The ratio. of volumes of two spheres is 8 : 27. Then the ratiol of their total surface
areas is‘ |
(A)  2:3 (B) 4:5
(C) 5:6 : (D) 4:9
80. Wfﬁﬁﬁmﬂiﬂiwmmsméﬁ € d el T =3 B
() 7 ® 14%d
(Cc) 28 FH | (D) 56 QH
e
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81.

82.

[210 ]

If the total surface area of a sphere is 616 cm?, then the diameter of the

sphere is
(A} 7cm B) 14cm
(€ 28cm (D) 56 cm
y-3T8T T GHET §
(A)  x=0 B) y=0
© x=y (o) T E A
The equation of y-axis is
(A) x=0 B) y=0
(D)  none of these

(C) x=y

S T % SaaEl E S 1: 278, S 7 TS &EE| i ST &I

(A) 1:3 B) 1:8
c 1:9 (D) 1:18

Two cubes have their volumes in the ratio 1 : 27. The ratio of their total surface
areas is

(A) 1:3 (B) 1:8

(C) 1:9 (D) 1:18

Page 33/48
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A [210 |

83. Uw el feet B o €, 3@ e g

32 nrd t 16 nr
(A) 3 (B) 3

8 nr 64 nrs
(C) 3 (D) 3

The volume of a sphere, whose radius is 2r, is

32nr3 - 16mr3
= ®

. 87(]"3 64 11:?'3
© o =2

84. 4 6,8,9,x Td 13 & A1 10 & A x HT T am
A 12 B) 14
(€ 10 (D) 11
If the meaﬁ of6, 8,9, xand 13 is 10, the value of x will be
(A} w12 (B) 14

(C) 10 (D) 11

85. 15,6, 16, 8,22, 21,9, 18, 25 &I HfegeT gl

(A) 16 (B) 15
(C) 18 (D) W T\' a’ﬁ% qﬁ
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[210]
- Median of 15, 6, 16, 8, 22, 21, 9, 18, 25 is
@ 16 (B) 15
(C) 18 (D) none of these
86. 23, 15, 25,40, 27, 25, 22, 25, 20 T TG T
(A) 20 (B) 25
(C) 23 (O) T H BT
Mode of 23, 15, 25, 40, 27, 25, 22, 25, 20 is.
(A) 20 (B) 25
(C) 23 (D)  none of these |
g7. @i®g 12, 25, 15, 18, 17,206, 11, 16, 30, 20, szan‘rtﬂ’m'{ €
(A) 10 (B) 1\5
(C) 26 (D) 18 '
‘ The range of the data 12..25, 15, 18, 17, 20, 6, 11, 16, 30, 20, 32 is
(A) 10 (B) 15
(C) 26 (D) 18
i S-11 |—| 2003 1-(71/80) Page 35/48
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89.

90.

T IR 130 - 150 &1 a0t fest @

(A) 130 ' (B 1835
(C) 140‘ - (D) 145
The class mark of the class interval 130 - 150 is
(A) 130 - (B) 135

(C) 140 (D) 145

[210]

Al TR TR fows dest & w6 ¢ @ g ag gen @\ 2

A) 5 _ ."(BJ 9

© 21 _ D) 15

If mean of four consécutive odd numbers is 6 then what is the greatest

number ?
(a) 5 B 9
(C) 21 (D) 15

Frferfiaa & 1 S W @ A @ g 2

(A) HHA : (B)  Tiieent
(C) FEATD (D) Ui

S-11 | = | 20031-(71/80)
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92.

(210 ]

Y A :
Which of the following is not a measure of central tendency ?

(A) Mean (B) Mediat

(C)  Mode (D)  Range

i el aRaRar Wl @ A o7 oo wfae 33 @ A agers e

(A) 30 (B) 43

(C) 45 (D) 47

If the mean of a frequency distribuﬁb;l is 27 and median is 33 then the mode is
(A) 30 (B) - 43

(C) 45 | (D) 47

3T U2 Sl Wifgea el &

(A) B 1

1
2

W|—

(C) O (D)

The probability of an impossible event is

(A) B) 1

1
2

W]

(Cc) O (D)
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[210]

93. afk p(E) fwd wem £ & wifgewan @ af frafafag § aR-@ @ € 2
(A)  P(E)<O " (B) P(E)>1
[g) 0<P(E) <1 (D) -1sP(E)s1
If P(E) is the probability of an event E, then which one of the following is true ?
(&)  P(E)<0 B) PE)>1
(C) 0<P(E)<1 | (D) -~1sP(E)<1
0. afk Fll et o oo Y R 0.4 A R et A siRrn @
&) 096 ' (B) 6%
© 06 D) T I T
If the probability'ef winning a game is 0-4, then the probability of losing it is
(A)  0:96 (B) af—4
(€) 06 (D)  none of these
o5 1 Fee o e T o v o v o ) e &
(A) % (B) -37
(C) % Dy 1
S-11 |- [ 20031-(71/80) page;;;‘:;
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96.

97,

[210 ]

A
In tossing tw i :
g two coins simultancously, the probability of getting no head 1s

1
=5 ® 1

3
& 2 D) 1

ﬁﬂ%@aﬁﬁ?ﬁ?ﬁfﬂﬂﬁﬂﬁmﬁﬁuﬁ% ?

A) 05 B) 15

(C) 0-08 | o 3

Which of the following cannot be the probabilityl of an event ?

(A) 05 (B) 15

. g
(C) 008 O

ﬁﬁ:@ﬁaﬁaﬁﬁﬁqﬂﬁi&mﬂaﬂmﬁ%mﬁ@ﬁﬁﬁ% ?
(A) 1 _ B 2

© 3 (D)  JURME w9 ¥ 3

What is the number of common tangents to the two circles touching internally ?

(A1 (B) 2
(C) 3 | (D)  infinitely many
S-1I | =] 20031-(71/80) Page 39/48
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H [210]
08. g x2+ﬁ=14 21 A x+71c- EF[III?‘{ Bl

A 3 B 4

) 5 (D) -2

If x? +x1—2 =14, then the value of x+-;lc- is

A) 3 (B) 4

C 5 |y -2
99.  WHIR %l 2, 6, 10, ... F U 11 Y&I &1 GNTHe &

(A) 240 _ (B) 242

(C) 248 (D) 200

The sum of first 11 terms of an A.P. 2, 6, 10, ... is

(A) 240 (B) 242

(C) 248 (D) 200
100. 3% foul erstiet 1 Brear - &1 At 39 9ol us =7 slEwet e

(A 2 nré B)  nr?

(C) 3nr? (D)  4nr2

Ifr 1:5 the radius of a hemisphere then its total surface area will be

(A) 2nr? B)  ar?

(C) 3ur? D) anr
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H (210 ]

|WUE - § / SECTION - B
'6‘1{{3?{1"\2: WY / Short Answer Type Questions
TvF W& 17 3oaa¢r—rgaﬁﬁzrmé“ls=r##ﬁﬁ? 1577 & IUT § 1 AT T F

v 2 3% FuiRa & 15x2=30

Quesrfon Nos. 1 to 30 are Short Answer Type Questions. Answer any 15 questions. Each

question carries 2 marks. , 15x2=30

1. e & faursm ooiRer &1 s 9% 960 3R 432 1 Ho Fo Fai| « 2
Using Euclid's Division Algorithm, find the HCF of 960 and 432. |

2. Foe T 3+2/5 T SR W ¥ | 2
Prove that 3+2v/5 is an irratjona! ﬁl.;mber.

3. 1.8 & 99 % Wadd 9 F Ko | - 2
Express 1-8 as a fraction in sim;ﬁlest form.

s, Team 9gHE 2% -22-8 % YEHFTRC | . o

Find the zeroes of the guadratic polynomial z%2-22-8,

[Lv]

5. Q‘ﬁfﬂﬂﬁa@ﬁmaﬁm%ws,'qt{a‘-zﬁl '
Find a cubic polynomial whose zeroes are 3, - 1 and - 2,
6. GHERY FH 2x+ky=3 X x-hy=2 FEl x=1,y=3R @ h IR k F A
frerTe | | 2
If the solution of the pair of equations 2x+ky=3 and x-hy=2 is x = 1,

y = 3 then find the values of h and k.,
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10.

11.

12.

13.

, [210]
feamt & gl famE 3x - 5y=7, 6x—-10y=3 % FX 7ol T@l &1 2

Show that the system of equations 3x - 5y=7, 6x -10y=3 has no solution.

A o, TG p(x)=2x2 - 11x+15 %W%‘a’réJr%wnma‘rﬁﬁl 2

If a, B are the zeroes of polynomial p(x)=2x?—11x+15 then find the value

ofi'f—
(4 &

=~

RIEC R 3x? +4x+2k T UF [HF - 2¥ A k F1 AH 70 B 2
If - 2 is a zero of the polynomial 3x? +4x+2k , then find the value of k.
<1 FEHISH I S 14 & IR I T FT 30K 448 ¥ A G 70T FL 2

The difference of two numbers is 14 and the difference of their squares is 448.

Find the numbers. biharboardquestionpaper.com
TIHEE % BRI AR 4x2 - 12x+9= 0 & Tt Frret | ' 2
Find the roots of the quadra_tic-equatipn 4x2-12x+9=0 using factorisation.
ﬁwmmﬁﬁaﬁﬁqﬁ?wﬁwﬁmﬁisﬁs%l 2

Find two consecutive positive integers whose sum of squares is 365.

[

FHIG Jel - 40, - 15, 10, 35, ... & 10 3 U <47 G111 2 o

What is the 10th term of an A.P. - 40, - 15, 10, 35, ... ?
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15.

16.

17

18.

19.

(210 ]
iR 97 3, 10, 17, ... & W91 9 IGF 13 5 Ug A 84 3w @M 2 2

Which term of an A.P. 3, 10, 17, ... exceeds 84 from its 13th term ?
HWGWW@W&W#%WWW@&?%: 2

3 2

Prove that in an equilateral triangle of side a, area of triangle is 2%

afy TRt B ABC Y 91 BC W p s e frg ¥ fF zaDC=2BAC T TEE

i = CA_CB 3
TR H=ex .

If in a triangle ABC, D is a point on side BC such that ZADC=/ZBAC then prove

cA_CB
that CD-CA"

6 T Torvrg ST 40 YA GUITh! T AThE fehre | . 2

! .

Find the sum of first 40 positive integers which is divisible by 6.

et o % 0 13780 7 30 et g © @ e Tk e e A
7 2t Aty g @ e 5 W E 2 : ' - " 9

What is"the length of a tangent drawn from a point Q, which is at a distance

of 13 cm from the centre O of a circle, il"radius of the circle is 5 cm ?

Wﬁﬁﬁﬁ&?ﬂﬁﬂﬁﬁﬁmﬁﬁﬁﬂﬁﬁﬁ?ﬁﬁﬁ(_5,_1],(3,-5}3ﬂT

2
(5,2)¢€l

Find the area of a triangle, co-ordinates of whose vertices are (= 5, = 1),

(3,-5)and (5,2)
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20.

21,

22.

25.

26.

~ Prove that (sec? 0—sccgﬂl=(tan29+tan49).

[210]
k & forw e & forw foregl (8, 1), (K, -a) 3l (2,-5) Wa ¥ ? 2

For what value of k, points (8, 1), (k,-4 ) and (2,-5) arc collincar ?
36 fog & Frderies yma ot S forgant (1, 2) 3l (3, 4 ) ) firerrt @t Y =)
2:3éaaaﬁqfaﬁsﬁaﬁw:ﬁwﬁﬁm%| 2

Find the co-ordinates of a point which divides -the line segment joining the
points (1, 2) and ( 3, 4 ) in the ratio 2 : 3, internally.

fog #X F tan1° tan 2° tan 3° ... tan 89° = 1. 2
faere ¥ st 3ile e siftsfaas

Prove that tanl® tan 2° tan'3° ... tan 89° = 1. adgfel 9Ue, #Hise Uue, siiee-Hl,

UTEIha, SEH, Al T, He- 3 e
e udten uss ua anfe & fAe...

2
( BiharboardQuestionpaper.com p
R

fog L T {sec4B—secze]a(tan28+tan4l§].

5cos? 60°+ 48ec? 30° - tan2 450 - :
2 g 30°tan” 45° o aH Rt

5
sin? 30°+CO$2 30°
2 ; 2 2 o
FEP the value of S5cos“ 60°+4sec” 30°-tan? 45 .
sin? 30° + cos? 30°
U STEEHR WA i aRfaf Femet afs swe s 04 36 2 2

Find the perimeter of a semicircular field whose dlameter 1s 24 cm.

snﬁwaﬁﬁmwﬁﬁﬁqﬂnﬁ%ﬁmmﬁww
A HL | 2

Two cubes of 8 cm side are joined equally, Find the total surface area of

resulting cuboid,

S-1I | = 20031-(71/80)
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Find the area of a ring whose outer and inner radii are 23 cm

respectively.

28. Fﬁqfaﬁ?aﬁwwwm%ﬁﬁmﬁﬁﬂaqﬁﬁmﬁaﬂﬁl

2

and 21 cm

Three coins are tossed simultaneously. Find the total possible outcomes.

vo. 4o It B A6 9 % SO BrUEs F HwE e (THsl Hd BT 30°%! 2

In a circle of radius 42 cm find the area of a sector whose central angle is 30°.

30. Ty=eREd @2 &1 A I 2
B 0-100". | 100-200 | 200-300 | 300-400 | 400-500
L 6 9 15 12 8
Find the mean of the following distribution®:
Class-interval 0-100 100-200 | 200-300 | 300-400 | 400-500
Frequency 6 9 15 12 8
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mmmﬁaaaﬁﬁﬁum%lﬁﬁﬁﬁﬁﬁ4uﬁ&imilmm%
fow 5 o fruifia 4x5 =20

Question Nos. 31 to 38 are Long Answer Type questions. Answer any 4 questions. Each
question carries 5 marks. : 4x5=20

31. T TG IH x— a4y + 14 = 0 T 3x + 2y - 14 = 0 FHSE G 2K 7
Exdl - 5

Draw the graphs of paxr of linear equations x — 4y+14=0and 3x+2y-14=0
and solve them. :

32, -WWW%&HWWWW@?@#W%W“ISW%IWW
YR FIT &1 | | 5

The perpendicular of a right angled triangle is 7 cm less than its base and its
hypotenuse is 13 cm. Find the base of the triangle.

33. mﬁ%%ﬁw%mﬁaﬁwaﬁrﬁwmﬁmﬁ?ﬁ%l 5
Prove that the tangents drawn at the ends of a diameter of a circle are parallel.
34. qmﬁaﬁABcﬁwmaﬁﬁﬂaﬁﬂch=6@ﬂr,AB=sﬁﬁrqﬁ4ABC=605,'
%{ﬁwﬁwaﬁmﬁmﬁmﬁamcﬁWﬁBﬁaﬁﬁﬁr 5

Construct a triangle ABC in which BC= 6 cm, AB=5 cm and ZABC=60°; then

" construct a similar triangle whose sides are :31- times the corresponding sides of

AABC .
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35. fag+ - A= R S 2 8
f (cosecA-sinA) (secc A-cosA) A LCutA
. Prove that (cosecA-sinA) (sec A —-cos A )=———1——--
tanA+cotA
36. 3 T faude R} U AHeEsy ®) G §g W@ €| S STl 1 ST i
TIERRY & MY R 600 T 450 ¥ Al A e & @ B g 100 HeX &
TECERY Hl AT A A | o 5
Two ships are approaching a lighthouse from opposite directions. The angles of
depression of the two ships from the top of lighthouse are 60° and 45°. If the
distance between two ships is 100 m, find the height of the lighthouse.
37. 2o T fFR O UF 39 99 @) fEeret Us 7 QU1 oiEl JETeR S SEE
ST € | St @l far wd S ' 5
A solid cube of edge 22 cm is.melted to form a circular cylinder of length 7 cm.
Find the radius of cylinder.
38. FreAfefEa de o Sger A % -
- 3ot 0-10 10-20 20-30 30-40 40-50
FRARAT 14 23 27 4 | 15

Find the mode of the following distribution :

Class-interval 0-10 10-20 "20-30 30-40 | 40-50
Frequency 14 23 27 21 15
S-11 2003 1-(71/80) Page 47 /48

BiharboardQuestionpaper.com

mScanner


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

